o J=ofA 1= AB = 6cm , BC = 8cm , /B = 90° ¢l Z1ZHAF
T o] yAoltt, o] Azt o] o] vtx]E 2] Aol7t 2cm
Z

@ 9cm @ 10cm ® 1lcm @ 12cm ® 13cm

AD = 4cm,EC = 6cm ©|B22 HlH O] Zo] AC = AF + FC =
4+ 6 =10(cm) ©|t}.




th& 2™l A T+ aABC ¢ Ydeli, ¥ D,E,F & el
olwff, AD + BE + CF &7

2t 234 HH7HR o] Zoli= goB2 AD = AF, BE =
BD, CF = CE ©|t}.

x+y=15
y+z="7
z+x=12

o|BZ FHE 27} tiH, 2(x +y +2) = 34
Lx+y+z=17
w2tA AD + BE + CF = 17




3. T I¥olA € 0+ aABC ] WA el GH, 17, LK+ € 09
A3t olufl, AT B AAGH + ABLJ 4+ aCKL 9] £ 9] Zol&
Tt ?

® 35cm @36@11 ® 37cm @ 38cm ® 39cm

~&B ~

BD = x,AE = y,CF = z&t2 3} x+y = 10, y + z = 12,
74+ x = 144

x+y=z=18

AE =18 - 14 = 4, AAGH 9] E8|9] Zo]= 2x AE = 8°|th,

BD =18 -12 = 6, aAB1J 2] E&|9] o] 2xBD = 12°|t}.

CF =18 -10 = 8, ACKL 2] Ed]2] Zo]+& 2 x CF = 16°]t}.
.. AMAGH + ABIJ + ACKL = 8 + 12 + 16 = 36( cm)
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oS I8 A A O 7F aAABC 9] QALY o, zx 9 712

A

100°

@ 10° @ 20° ® 30° @40° ® 50°

~&B

OB = OC °|2& AOBC & o]5H Azt o|t}.
metA £ @zt 37t goeng

/OBC = /OCB

5 2x+ 100 = 180, x = 40 ©]t}.

ol




e TP A M FHolSEAL & FolA Wtk S
FHshs Tpgeltt. O ghol Solg guke 2L

0 o4 AC o &l 4] 23 D e} s,

0 & AB 9 $4ol 514 9lo] 9108 OA = OB @
E, % 0+ BC 9 $8o| 554 ¢ 9ong OB = 0C

@, O°lA OA =[]

AAOD 2} ACOD ©f|A ZADO = /CDO = 90°

OA=[_|

oD = 3%

- AAOD = ACOD (RHS &%)

w2bA], AD = CD ©]E2 OD += AC &] 20|52 o] Ht},
Z, AABC 9] A H19] =7]o] 5242 3t 1 O oA whd

(Doc @op ®O0A @AD G D




6. T 2™HoNA aABC o] 9ol H 0 & W, zx O] 7|7

A

20
0

@ 20° @ 40° ® 50° @ 60 G)roe

~&B

BHZX 0B, OCE 1°H

LOAC = /OCA = 20°, /OBC = /OCB ©]|1l 417}3 o] A
UZze] ghol 180° o] B2 /OBC = /OCB = 30°

wrahA] x = 40° 4 30° = 70° ©]t},




thg-e 27417 ABC o4 AB $19] /B = /BCD 7} 2 A D
2 zro® AD = BD = OD 9 $9sl= #Aolt. Hlzho] gre
AL AR A B ALY
A
D
B Nc

/B=/BCD°|EZ ABCD &=[ ot}

wheb BD =[] oltt.

A7ZF ABC oA ZA + /B 4 90° = 180° o] 2 &

/A =90° — /B ©o|t}.

/ACD +[ ] = /ABC 914 LACB 7} 90° o2&
LACD = 90° - /BCD ©|t}.

a#Y B =/BCDolRE A=[  ]oJth
wtebA] AACD & ©]5RI4IZHg o] B2 AD = CD ©th.

“BD-[ |- AD ot}

@ ol5WAZtd, AD, /BCD, /BCD , BC
@)o]5¥424, CD, /BCD, /ACD , CD
® o|5¥H4Zrd, AD, /ACD, /ACD , AC
@ 27442+, CD, /ACD, /BCD, AC
®

A ZW47vs AD , /BCD , /ACD , BC

/B = /BCD ©]B=2 ABCD & o|sHdZgo|tt. uwatA
BD = CD o]t}

A2+ ABC oA ZA + /B +90° = 180° ]2 /A = 90° - /B
ojrt.

L/ACD + /BCD = /ACB 9|4 /ACB 7} 90° °|2& /ACD =
90° — /BCD o]t}

44 /B = /BCD °|B2=2 /A = /ACD o]t} wakA AACD
£ ol5H4Ztgo|n2 AD = CD o|th.

~.BD = CD = AD °|t}.




A
B C
® /ABO = /BCO @ AB =BC
® /BOC = 120° @ /A =2/0CB

@AOBC + /BAC = 100°

B

o, o S

AABC 9] 14 0 ot WA 17F AAE wfj= Aol A
AgolBz

/BAC = 60° o|t}.

webA] /BOC = 2/A = 120° ©] 11, AOBC &= o|5H
B2 /0OBC = 30° o]t}

® £OBC + /BAC = 60° + 30° = 90°




9.

S 283 o] ABC o4 AD = DC 7} H== 4 D & 32 o,
0O = AABD 9] 9]4]0]1 A I = aAADC 9] YAlolt}. ojuf, LOAI

o] 27|=?
A
()o I O
B 60 L 40 C
® 18° @ 46° @50° @ 52°

® 108°

B

30° o]z,
(DAC = 44° 0|82 /DAl =40°+2=20°
wrehA] LOATL = £OAD + /DAI = 50°

/DOA =2x60°=120° |22 /OAD = (180°-120°)+2 =




